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COMMERCE
( Honours )
Paper : COM-HC-4036
( Human Resource Management)
‘Full Marks : 80
TimesNihrcethonrs

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : (any ten) 1x10=10

o ST Sen fran ¢ (Feea weol)

(@) Human Resource Management is very
useful in creating work culture in an
organisation. :

(State whether True or False)

95| FRoToTR o A ot SfeRtaT SE Aoy
ARGE Ofe veeal | (0% @ wuE Fay)
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(b) The process of human resource

planning should begin at the top level.

(State whether True or False)
SR A ARSI 2] AR s s
(2RIl ©he | (%% 1 G5 f&730)

AN SR T o
23] |

(35T 212 %74 7))

, (9) The selection procedure ends with the
(0 Human beings are the key and -most ° : of a worker on the Job.
important investment and assets in } (Fill in the blank)
modern orgamsatl;nh T i } AGE AT TR G N I RTTT
(State whether True or False o579 23] | (2 37? o
L AT - | _ Pl
SYFE RGO THE AW 25 S0IR0cE | Bl
SiEeaR BRGNS S 7= | (h) Counselling is the discussion of an
(%7 (7 Sieg [7730) | problem with an employee.
(d) The common belief now-a-days is that 1 (Full in the blank)
managers are born, not made. GRIBRAE K TN GG AT
; (Statehuihether Trui or False) \COTO S[EI5H] | (=) 92 799 )
FRAKIEE Sere q200] KA @ 7 oes geeE .
o T, [E 2Ee I @RiE | () When the employee feels that an
| (% @ &7 7)) injustice has been done, it becomes a -
(e) All the employees require constant (A &7 THII SR A (@ (999 (s
to cope with tl'qe.need of the SR 9 (202 R B Bl HARaen EXil
job. (Fill in the blank) i (i) k '
A7 SIS 0o A AR AN Ao T | e e El i)
FRE G ARG | (i)  dissatisfaction (SPTREsT)
(%‘f) 12 79 1) ey
: (it)) ' grievance (o= noifecer) -
(f) Job evaluation is the technique of . . ; il '
the job and not the man. () punishment (=1f¥7a)
(Fill in the blank) (Choose the correct answer)
| _ - ; (&%er Az Thysar)
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() The basic job of every executiye 1S

() The basic objective of industrial health & FEAIRFS 6] FISICO! 26T

1s . !
ST HER 5 S 7 \ (i) planning

| : . GEETal
() prevention of disease and injury

it T TS it T (ii) organising

(i) medical reimbursement | ZIROpIne:
ieeE wioome | A LAl
‘(i) cure of the diseases ‘r i hec_1s1on-ma i
@Ioi 2ol | TAIG 2
(iv) All of the above | (iv) coordinating
GARGS SIDIFLD S
(Grade the;@correct ariswer) (Choose the correct answer)
ARSI o) (et IR Gea)
(k) A large part of compensation that | : :
people receive from work is (m) The success of an organisation depends
TFZ (H€3 T T4 THorae it ae 95 upon the quality of selected
(i) non$get§1y 5] v Tweel el FE
ol s
(i) ménefary ; | (i) . Machines (TZAIf9)
. 4 s v
il R s (i) Tools (31g[T)
(1) fr;%gi benefits | _ (iii) Market (357)
SlRisE Fiaa | - : :
(6] om e of e A | (iv) Personnel (S 717H)
ToRSe e - | : (Choose the correct answer)
; (Choose the correct answer) | ' (&%) e ©/e78<7)
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(o)

In which year National Institute of
Labour Management was established ?

<IZ AR ARCERI 2fedm @R T =]

_2‘?

(i) 1950 (sseo0)

(ii) 1965 (S»be)
(i) 1947 (v584)
(iv) 1975 (5»a¢)

- (Choose the correct answer)

- (@=) qif Gfyeq)

Social security is concerned with the
well-being of

G FFR TR SEW A& AR w1
(i) the consumer
CREIGE

: (i) the people

Gref Al <€eq

(iii) the government

bIPIES
(iv) the children
iR

(Choose the correct answer)

(S%00! % Tleed)
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2. Write very short answer : (any five) '
2x5=10

wfs 53 Bes fat ¢ (R =ise))

(a) What is human resource management ?
SR A ARG A

(b) What is meant by outsourcing ?
o1 el A B el

(c) - What do you mean by career
development ?

A Jem e & g5 e

(d) What is 360 degree performance
appraisal ?

ovo Gl smiel SEURA T 52

(e) Mention two elements of compensation_
wooaeq 70 Gelm S 4 |

(f)  What is fringe béneﬁt?
fsfas Ak e 52

(g) Mention two merits of directive
counselling.

ﬁtﬁcm@m AR 76! TRl @‘C:TI?IVWI
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(h) Mention two significance of labour
welfare to the society.

T T TS SO 75/ Dl Sz
= -

3. Answer the following : (any four)
o5x4=20
wee TANAIRE ©ed &l ¢ (e s1fa579)

(a) Explain the recent changes which are
taking place in the field of human
resource management.

T A7 AReEEE T I6TF e @E
SfFETIZ A1 T4 |

(b) What are various factors responsible
for the need of human resource
information system ? Explain.

T A O A@od AGAIESE (RS
(FAER SRS AS[ (714 2 1207 554 |

(c) Discuss about various objectives of
human resource planning.
a2 A [T SorsipEs S
Bl
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(d) What are the limitations of interview in

(e)

(9)

(h)

selection process ? Explain.

i elfeFars ARFe d2ee SHRAPTR e
I 4|

Discuss about the importance and
needs of executive development in
human resource management.

TR TN AREEES SRAFEASAS g

| @y UE ARl A SEA 54 |

What are the essentials of socia]
promotion policy ? Explain.

I TS SbRT SrEETE Mg &
fe 2 <=0t <=4 |

Discuss about various external factors
influencing employee remuneration

policy.
TpiE AAfReiRe SibH FaiRae eer fer
4| e TRFAIR NG 41 |

Briefly discuss the welfare facilities for
workers under the Factories Act, 1948

FER ST, S98Y-3 ST TN Ak
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4. Answer the following questions : (any four)
10x4=40
weTe WRAIKIRS Oed &5l 2 (Rl sifao)

(@) Discuss various managerial and
operative functions of human resource
management.

TR PO S 34 |

(b) What is job analysis ? Describe varioys
techniques used for analysing the jobs.
2+8=10
A el A &2 27 Ko cwars 2

Al R SHEPR i = |

(c) Discuss various external and internal
sources of recruitment.

TEE ARTE S e ST Wiz
40 |

(d) Discuss about various traditional anqg
modern methods of training for
employees in an organisation

<51 AT I e T fafon S
Tl AR AR D) 2wy
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LG

(9)

g

(¢) What is performance appraisal?

Explain the importance of performance

appraisal in | humansresource

management. 2+8=10

vmﬁfmwwm%?mmmwﬁsmw
offwfRRel JETREAE =g VT |

What is meant by transfer ? What are
its various kinds ? Bring out clearly the
features of a sound transfer policy?.

2+4+4=10

e A 72 TE R [ e 9o
7] AfeTeael SIbf RO BT a9 54 |

What is voluntary retirement scheme ?
Discuss about various issues involved
in VRS for its effectiveness. 2+8=10
(HRIETS SR S I <62 92 Sibf ety
w7e Rcanal Siea Fa Al REenR @ & sicisa
4 |

Examine various legal provisions
regarding safety of Worker;.
Sl
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(i) What is an industrial dispute ? Discuss
about various provisions of the
Industrial Disputes Act, 1947 for
settlement of industrial disputes.

2+8=10
el Kam AE G2 Soofic fam Feife
Ffedcs Industrial Disputes Act, 1947-9
AR S 41 |

(i) What are the basic qualities required
for a human resource manager. Discuss
about his role in modern organisation.

5+5=10

G2 (FES (99 A SEE Tl el
ST <5 |
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